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(G fir iR E2E P 4t ¢ ® ° B§ |GROSS|HDCP | NET 1t = JIE A7 B 4 /o db 0 # B |GROSS| HDCP 1t z )
B 5 B B 49 ‘ 49 | 14.4 | 34.6'H 510 | AbEF  HEF] 46 ‘ 46 | 8.4 .6
YEMBIS | 2kt 22 5] ; 47 | 47 |12.0 | 35.0H 5fL | = At B — 46 | 46 | 8.4 .6
LR WEE 40 40 | 4.8 | 35.2/H HINL | H 1B 52 52 | 14. 4 .6
AT | FREE SRk 45 45 | 9.6 | 35.4'H S | KkH &2 52 52 | 14. 4 .6
VAR AL 45 45 | 9.6 | 35.4|H 5507 | AR 45 45 | 7.2 .8
A= 2 45 45 | 9.6 | 35.4|H 5607 |17 B 51 51 |13.2 .8
AL | A SeHI 45 45 | 9.6 | 35.4|H S5THL [ /R F5 5 51 51 |13.2 .8
8L |+ fET 44 44 | 8.4 | 35.6 E B8 | Hixt  Fih 51 51 |13.2 .8
of | B B 49 49 .2 35.8/H SO | T 51 51 .2 .8
100 | EWE B A 49 49 |13.2 | 35.8|E 60N | M THT \ 44 | 44| 6.0 0 RE
LI BTH R 49 49 .2 ] 35.8 6107 |FKH  Hwk 44 44 .0 .0
12/ | 5% B 42 42 | 6.0 | 36.0 6207 | #F ik : 44 | 44 .0 .0
1303 | fofAhA B 42 42 | 6.0 | 36.0 63N |y |’z 44 44 .0 .0
1467 Em BRL 42 42 1 6.0 | 36.0 64hr | B I E 50 50 .0 .0
1507 |5+ iR 41 41 | 4.8 36.2 6507 | ZEH 224 50 50 .0 .0
1607 | &1L Bk 41 41 | 4.8 36.2 6607 | T8 RAC - 50 | 50 .0 .0
VL | R T/ 47 47 110.8 | 36.2 67| AT — 50 | 50 .0 .0
18 | il EL 40 | 40 | 3.6 | 36.4 680 | Bkt FniE 43 43 .8 .2
1907 IR el 40 40 | 3.6 | 36.4 69\ | = FIER 49 49 .8 .2
20007 | JEL PRt 39 39 | 2.4 36.6|TKE 1007 | AR {2 49 49 |10.8 L2 E
247 | FEE  moHE 45 45 | 8.4 | 36.6 TN | A ST 49 49 .8 .2
22 | ] B 45 45| 8.4 | 36.6 1207 A 7 49 49 .8 .2
2307 | Kbk HEE 45 45 | 8.4 | 36.6 (ARG A 55 55 .8 .2
2407 | G HEE 51 51 |14.4 | 36.6 74067 | B BT 48 48 .6 .4
2507 | fEEF 7] | 44 | 44| 7.2 36.8 T50L | A H = 48 48 | 9.6 4
2607 | | —i2 44 44 | 7.2 | 36.8 TN | AR TaAT 48 | 48 .6 A
ACTAR-Y S S ‘ 50 50 | 13.2 | 36.8 TIAL | 1Ly = 4F 54 54 .6 4
28A7 | fE1l 50 50 | 13.2 | 36.8 T80 | E Wb 54 54 .6 4
200 | BT T 50 | 50 13.2| 36.8 TN | A% HAD : 54 | 54 .6 A
3047 | ikl FEE 50 50 | 13.2 | 36.8 | TRE 80fZ |1l Fnifk 54 54 .6 4| TRRE
SN | BRIk 43 43 | 6.0 | 37.0 I HH  Fuz 41 41 4 .6
3207 | IEE 49 49 |12.0 | 37.0 82fir | HO fHZ 47 47 .4 .6
3L | A 1EZ 49 49 |12.0 | 37.0 CRYIVALRZLY S S | 47 47 4 .6
340 | it I 49 49 [12.0 | 37.0 84N | B it 47 | 47 A .6
3547 | FEH Wl 55 55 |18.0 | 37.0 850 | = FEAK 47 47 .4 .6
360 | teRE E— 57 57 .0] 37.0 860 | i HEH 53 53 4 .6
STAL | il - 42 42 .8 37.2 S8TAL | A Y 53 53 4 .6
38N Wl e 42 42 .8 37.2 88\ | D] £+ 53 | 53 4 .6
390 | Tl fa 42 42 .8 37.2 SONL | 711 WL 40 | 40 .2 .8
4007 |3 =2 42 | 42 | 4.8 | 37.2|9E 90N | KH &R 46 46 | 7.2 L8 E
4167 | INEE FR 48 48 .81 37.2 9Ifr | N BE= 52 52 .2 .8
2067 | MR e 48 48 .8 37.2 92\ | FE RniE 52 52 .2 .8
4307 | OHE & 48 | 48 .81 37.2 93T |21 ik 52 52 .2 .8
4407 | miiHE G 54 54 .81 37.2 9 | OIKE =7l 45 45 .0 .0
4507 | fhA EHE 54 54 .8 37.2 957 | B IEEk 45 45 .0 .0
4607 | FHFH 47 47 .6 | 37.4 9607 | R 2% 45 45 .0 .0
47hr | B BE 47 47 .6 | 37.4 9THL | B35 fHAT 51 51 .0 .0
4807 | H . O 47 47 .6 ] 37.4 987 | EH %= 51 51 .0 .0
4907 | - EER 46 | 46 .4 37.6 99h7 | 7 FEH 51 51 .0 .0
L 5007 | BEA i 46 46 | 8.4 | 37.6 | fE 10017 | FBF 45k 57 57 | 18.0 .0 )
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(G fir ks e ok ] HDCP | NET s = NE {7 B E A4 0 de 0 ® B |GROSS| HDCP T
1010 | Ak F5 R, 57 .0 39.0 1510 [ IR ¥ 51 ‘ 51 |10.8 .2
10207 | 788 12 KEB 57 .01 39.0 15207 | AR et 51 51 [10.8 .2
10302 | mifHR =+ 59 .0 39.0 1530 | AR #E2 51 51 | 10.8 .2
10407 | s TR | 44 .8 39.2 15407 | I #l st 51 51 |10.8 .2
10507 |/ [l A 50 .81 .39.2 15507 | & e 57 57 | 16.8 .2
10647 | 5] & i 50 .81 39.2 1560\ | K¥#  FEFn 50 50 | 9.6 4
1077 | /bR A E+ 50 .8 39.2 IEYE A A = 50 50 | 9.6 4
108{3. | 22/ = 50 .81 39.2 1687 | 24 HE T 50 50 | 9.6 4
10947 | /vl 3 50 .81 39.2 15907 | &1 EE 50 50 | 9.6 .4
11007 | by = 56 .8 ] 39.2 |f8H 1600 | KiE  c— 56 | 56 |15.6 CATRE
IBRETAE= N S e : 43 .6 ] 39.4 1610 | 52471 ¥ 56 56 | 15.6 .4
L1207 | A FBAG 49 .6 ] 39.4 16207 | )1 — /& 43 | 43| 2.4 .6
113 | i OB 49 .6 39.4 1630 | )1l A 49 49 | 8.4 .6
L1407 | efl 7% 49 .6 ] 39.4 16407 | FnH  Z#F— 55 55 | 14.4 .6
L1607 | f& Kl 49 .6 ] 39.4 16507 | K+ = A 48 | 48 | 7.2 .8
L1607 | FEuh  Fnffe 55 .6 ] 39.4 16607 | YA FRD 48 : 48 | 7.2 .8
L1170 | REAS Fndk 55 .6 ] 39.4 16747 |48 ZnEA 54 54 | 13.2 .8
1180 | e & 55 .6 39.4 1687 | 1= #aw] 60 : 60 | 19.2 .8
L1907 | /AT & 55 .6 ] 39.4 169\ | KN SHE 60 60 | 19.2 .8
120007 | B B 55 .6 | 39.4|FE 17007 | BAS A% 53 53 112.0 L0 TRE
12147 | 0 BA% 42 .4 39.6 170 | B 53 53 112.0 .0
12207 | =R A& 48 .41 39.6 L7207 | &)1 f4 53 53 | 12.0 .0
12307 | /bR R 48 .4 39.6 17307 | nzh FH] 59 59 [18.0 .0
12407 | ekt EH | 48 4] 39.6 17407 | VEIL P 61 61 | 20.0 .0
12507 | FE%  GEHI 54 .41 39.6 17507 | 453 12 52 52 110.8 W)
12647 | S Fnfm ‘ 54 .41 39.6 17647 | 1Lt Fnzz 52 52 |10.8 .2
12707 | ke K— 47 .21 39.8 L7TOL | iy = 58 58 | 16.8 .2
1287 | &' B 47 .21 39.8 L7807 | ikt A4E 58 58 | 16. 8 .2
12907 | F&F 474 47 .21 39.8 17907 | /@K #HHE 58 58 | 16.8 .2
1300 | i A= 47 .2 | 39.8|TRE 1800\ | i A 51 51| 9.6 A TRE
1314 | BtF 53 .21 39.8 I8I4Z | FH =% 57 | 57|15.6 4
13202 | g IEA 53 .21 39.8 18237 |l Z&Hh 56 56 | 14. 4 .6
1330 | Hh)Il e 53 .21 39.8 1830\ | H  J5hk 56 56 | 14. 4 6
13447 | W =k 53 .21 39.8 18417 | /N1 B2 49 49 | 7.2 .8
13507 | Kk %43 53 .2 39.8 1850\ | FnHH  #RIk 55 55 [13.2 .8
13607 | 1)1 B 53 .21 39.8 18647 | ILH  #— 55 55 | 13.2 .8
1377 | 78 B X 59 .21 39.8 187 | B BF 48 48 | 6.0 .0
13807 | hnE A 46 .0 ] 40.0 1881\ | N il 54 54 |12.0 0
13907 | 52 .0 | 40.0 18947 | = A 54 54 | 12.0 .0
14007 | WElgg 3% 52 .0 | 40.09RE 19007 | KAl Bt 60 60 | 18.0 L0 RE
AL | R Tk 52 .0 | 40.0 1910 | A8l HR 60 60 | 18.0 .0
14207 | 1EiE 7 52 .0 | 40.0 19207 | kKH  TEA 60 60 | 18.0 .0
14307 | i HEYS 52 .0 40.0 1937 | R MER 62 62 |20.0 .0
14407 | FH &5 52 .0 | 40.0 19407 | i KM 62 62 |20.0 .0
14507 | /(8 Tac 58 18.0 | 40.0 1950 |'BAR  HE 53 53 110.8 .2
14607 | 4%  V54E 45 4.8 | 40.2 19602 | X VE3# 59 59 | 16.8 .2
LATHE | ntm B2E 45 4.8 | 40.2 19747 | A [E 51 51| 8.4 .6
1480 | & 1F 45 4.8 | 40.2 19807 | AR RRYA 57 57 | 14. 4 .6
14907 | 7 L 45 4.8 | 40.2 1990 | B A R 57 57 | 14. 4 .6
| 1507 | BB L 45 4.8 | 40.2 HE 20007 | LA 57 | 57 |14.4 6| TRE )
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(g fir WA EEEEE 4 |GROSS| HDCP | NET 5 & JIE A7 4 P 4t ® B GROSS| HDCP | NET T

20142 | 1 W 57 57 |14.4 | 42.6 ‘

20207 | I 2R 57 | 57 |14.4 | 42.6
20337 | {7 E 50 50 | 7.2 42.8
204007 | =W HEFR 56 56 | 13.2 | 42.8
20507 | PG I BB BR 56 56 113.2 | 42.8
20607 | AT AFE+- 62 62 119.2 | 42.8
207N | IAAS - 63 63 120.0 | 43.0
2080\ | fnJ2  E— 63 63 120.0 | 43.0
20907 | [l fERE 63 63 [20.0 | 43.0
21007 | =m 2 54 54 110.8 | 43.2
211062 | Bl =+ : 60 | 60 |16.8 | 43.2
212007 | /AR =T 53 | 53| 9.6 | 43.4
21307 | iy SCHE 53 53 | 9.6 | 43.4
21447 | Bos mEgE 59 59 | 15.6 | 43.4
21507 | oA FEH] 51 51| 7.2 ] 43.8
21607 | A $H 57 | 57 |13.2 | 43.8
AVEVAR 3N i) : 63 63 119.2 | 43.8
218\ | HEE K] 56 56 | 12.0 | 44.0
21907 | B BRA 62 62 |18.0 | 44.0
22007 | 'E ] ek 64 64 [20.0 | 44.0
22107 | fEVE 5 H] 64 | 64 [20.0 | 44.0
2220 | M T 61 ° 61 | 16.8 | 44.2
2230 | B BT 60 60 |15.6 | 44.4
22407 | AT 4EE 59 59 |14.4 | 44.6
22507 | AN [EZE 59 59 | 14.4 | 44.6
22607 | LU ER 59 59 | 14.4 | 44.6
22707 | EEYE  BL3E 52 | 52| 7.2 | 44.8
228N | JEER 5P 58 58 |13.2 | 44.8
22007 | 7% fit ez 58 | 58 |13.2 | 44.8
23007 | A IER/)] 64 | 64 19.2 | 44.8
231007 | /AR BB~ 63 | 63 18.0| 45.0
23207 | fnot ZFEAT 65 65 20.0 | 45.0
2330 | KT ET 62 | 62 |16.8 | 45.2
234407 | EA TR 59 59 | 13.2 | 45.8
23507 | FEF  BkSE 64 64 | 18.0 | 46.0
2360 | JHIL 75 66 66 | 20.0 | 46.0
237HhL | A Hi- : 66 | 66 20.0 | 46.0
2380 | Bl B2 57 | 57 110.8 | 46.2
23907 | AEAR  H 65 65 | 18.0 | 47.0
2400 | G & — 67 67 120.0 | 47.0
24107 | /N B 67 67 [20.0 | 47.0
24207 | INRE  HEAS 67 67 120.0 | 47.0
24307 | FRE EA 69 69 120.0 | 49.0
24407 | W H& 69 69 |20.0 | 49.0
24507 | iAW 70 70 120.0 | 50.0
24607 | MR PRAT 70 70 [20.0 | 50.0
24THT | &3k AE 71 71 120.0 | 51.0
2480\ | KH  FF 73 73 120.0 | 53.0
24903 | 1 N 76 76 120.0 | 56.0

\250& R B 79 79 120.0 | 59.0 )
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